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Sergei Sorochkin, Vladimir Stepanov
Valeriy Ivanov, Denis Salmov

JeHunc MuryHos, llya Cherkasov
rPUrOPWI CTEMAHOB, ApTem Bacunbes
Sergey Barsukov, Anekcein Mapkos
Konstantin Gololobov, Buktop [po3aos
Omutpui Upinnakos, Alexey Vologzhaninov
Yury Popov, Evgeny Esingildinov

Andrey Kozhin, Olga Shermergor

Egor Mikushin, Alexander Gavalov
Timofei Tenebekov, Aleksandr Kvasnikov

Svetlana Salmova, Anna Opareva
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-11 | 65
-5 |71
-1 |75
+2 |78
+2 |78
+5 |81
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+10 | 86
+14 | 90
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Hole-by-hole statistics

OISC GOLF
METRIX

| 112034 s ]6]7 8 e11a2/9 1]2 ]34 5 6 7 8 e1]s2]9 Tor L
Par 3/3/3,3 4|43 |4|3|4/|4|3/3 /3|3 |4|4|3|4|3|4)|4)176

Avg

Difficulty

Birdie -1

Par 0

Bogey 1
Double Bogey 2
Triple Bogey 3
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